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INTEIL L IGENCE ACADEMY



Solve linear equation
Name : _______________
Date : ___________
Marks : __________

Level 1
1. Simplify each of the following algebraic expressions. 

(a)
6a + 3 – 2

(b)
2m + 3n – 3 – 5n
(c)
5x + 8y + 2x – 5y
(d)
–2h + 3k + h + 5k
2. Solve the following equations.
(a)
2p – 5 = 3
(b)
12 + 3q = 6
3. Solve the following equations.
(a)
7m + 6 = 3m – 2 
(b)
28 – 3n = 5n + 4
4. Solve the following equations.
(a)
5(3h – 8) + 2 = 7 
(b)
3(7 – 2k) + 4 = –11
5. Solve the following equations.
(a)
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6. Solve the following equations.
(a) 
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7. Solve the following equations.
(a) 
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8. If the sum of two consecutive odd numbers is 32, find the greater number.

9. Vincent and Tom together have $1 200. If Vincent gives $150 to Tom, then they will have the same amount. How much does Tom have originally? 
10. Carmen’s mother is now 41 years old. 5 years ago, she was 4 times as old as Carmen. Find the present age of Carmen. 
11. Cindy and Winnie buy a present of $288 to their mother and they share the payment. Cindy’s share is $18 more than half the share of Winnie. Find Winnie’s share.

12. In a test, Ken has answered only 
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 of the questions and 4 of them are wrong. Given that each question carries 5 marks and Ken gets 55 marks in the test, how many questions are there in the test?

Level 2
13. Simplify each of the following algebraic expressions.
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14. Solve the following equations.
(a)
9 – 3a – 16 = 5a + 9
(b)
9.8 – 0.8b = 1.8b + 3.3
15. Solve the following equations.
(a)
3(2s + 1) + 6(2s + 1) = 5(4s + 3)
(b)
50 – 6[2(3 – 2t) + 15] = 12t – 40
16. Solve the following equations.
(a)
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(b)
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17. Ken wants to share a bag of candies among 15 persons equally, but 3 of them are absent. As a result, each of the remaining persons can get 2 more candies. Find the number of candies in the bag. 
18. Gary wants to buy a model aeroplane but he does not have enough money, so he decides to save a fixed amount of money each day. After 5 days, he needs to save $80 more. After 4 more days, he finds that he still have to save $48 so that he can buy the model aeroplane. Find the price of the model aeroplane.
A. $72

B. $108

C. $112

D. $120

19. There are altogether 21 $5 and $2 coins in a purse. If the total value of the coins is $78, find the number of $5 coins.
A. 6

B. 9

C. 12

D. 15
20. A 60 cm long string is cut into two portions. The first portion is bent into a square and the second portion is bent into an equilateral triangle. Suppose that the perimeter of the square is 12 cm longer than that of the triangle, find the area of the square. 
A. 64 cm2
B. 81 cm2
C. 100 cm2
D. 256 cm2
21. In the figure, an equilateral triangle of side x cm is cut into 9 equal equilateral triangles. If the total perimeter of the 9 small equilateral triangles is 36 cm more than the perimeter of the original equilateral triangle, then x =
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A. 6.

B. 9.

C. 12.

D. 18.
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